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TR R 107.07.17 | 107.08.18 | 107.09.05 | 107.07.14 | 107.08.19 | 107.09.05 | 107.07.18 | 107.08.18 | 107.09.04 | 107.07.17 | 107.08.17 | 107.09.04
TSP, 24 | pr s 139 84 140 80 52 86 94 59 75 85 62 115 250
(pg/m’)
PMa, p T 71 53 75 42 34 45 48 24 41 46 28 51 125
(pg/m’)
(Eg'fr-lg) 24 | s 19 — — 13 — — 11 — — 18 — — 35
SO, AP TG 0.002 0.007 0.006 0.011 0.010 0.003 0.002 0.011 0.012 0.004 0.018 0.012 0.25
(ppm) pTiag 0.002 0.004 0.003 0.004 0.003 0.002 0.002 0.007 0.005 0.003 0.008 0.004 0.1
NO, B4 RETaE 0.055 0.021 0.017 0.033 0.029 0.012 0.025 0.016 0.021 0.036 0.031 0.023 0.25
(ppm) pEiam 0.021 0.013 0.012 0.012 0.010 0.009 0.015 0.009 0.011 0.014 0.017 0.010 —
NO Bt T E 0.006 0.005 0.003 0.017 0.011 0.008 0.011 0.010 0.013 0.005 0.033 0.032 -
(ppm) pEiam 0.003 0.002 0.002 0.007 0.006 0.005 0.007 0.004 0.003 0.004 0.009 0.009 —
co AT 0.40 0.30 0.30 0.40 0.30 0.30 0.30 0.50 0.40 0.30 1.67 0.40 35
(ppm) Bt 8 BT 0.20 0.20 0.20 0.20 0.20 0.20 0.20 0.30 0.30 0.20 0.50 0.30 9
0s B4 RETaE 0.046 0.040 0.038 0.055 0.046 0.034 0.046 0.039 0.046 0.046 0.046 0.035 0.12
(ppm) Bt 8 BT 0.025 0.033 0.031 0.047 0.029 0.022 0.035 0.026 0.039 0.036 0.034 0.025 0.06
NMHC(ppm) FEXZF 0.18 0.12 0.29 0.18 0.19 0.14 0.18 0.13 0.25 0.17 0.22 0.21 -
4 (ug/m®) 24 | pEE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
& (ug/md) 24 /] pE iR <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
A (ug/md) 24 /] pE iR <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
£ (ng/m®) 24 /] pE iR <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
4 (ug/m®) 24 ] pr i <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 -
@ (> (ug/md) 24 ) pFiE 39.7 32.6 26.5 4.15 6.39 2.86 450 7.47 3.93 4.10 5.90 2.66 -
BATD 15 15 % ek | oa 54k | sa0 3 K@ " > 3 -
23 Lk a3 kL
I i (M/s) %B Iy;'/i,* 2.3 1.2 11 11 0.9 0.9 13 0.8 1.1 1.2 0.7 1.1 —
£ 24 )R
BR (C) FEFET] 30.8 29.8 30.1 305 274 29.9 311 28.6 29.2 30.0 28.9 29.2 -
AR (%) BT 75 81 72 70 80 73 67 83 70 74 80 70 —
EAE g/m? 75 7.0 7.9 6.9 6.4 7.0 7.2 6.9 7.4 7.0 7.2 7.2 -
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¥~ : dB(A)
5E'J i'é;' f" fﬁ/— 5;. 5E'J p EP Leq Lmax L n L« L« ? #'J T?P ‘Jk‘ﬁ Vj']
3t 4 pRAe¢ o |107.07.14~15| 567 | 816 | 582 | 543 | 522 | .. . ... _
— o R A T
BH 4 2T — — 75 70 65
B RE ) 107.07.14~15| 578 | 80.3 | 596 | 54.4 | 514
BER | 107.07.14~15| 53.7 | 79.7 | 551 | 529 | 497 | .. . . .. _
B e B ¢ 107.07.1415| 557 | 776 | 570 | 556 | 516 | ~~ T FHIF
BB RS — — 60 55 50
%3 LRIHEBTRESREL
¥ :dB
RIEE T 756- ERlpE Lveq Lvmax Lvio s Lvio « ’F 1 5F
3t JRAx¢ < [107.07.14~15]  37.6 66.6 42.2 349 |. ..
, . — % = 7@_ ¥ 2
PAESEIE L @ — — 70 65
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B ER | 107.07.14~15[  37.7 48.9 32.6 300 |, _
B ik® ¢ |107.07.14~15] 363 55 1 374 %4 |0 BFE
pAERRIEEY & - - 65 60
4 LRl ERIEE REL
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R - SRl pE L. LF L 5% LF L =
A2t RFEY o | 107.07.04~05 56.3 54.0 50.5
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%5 LpHFERFTRESFRESL
# = : dB(A)
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A I EBEIE P TE A RS- DBRBTAREI07ES 3ETRERS &
SRR
AEBBORTE R 107 £ 90 12 piefF o § Ry %&ﬁ:ﬁtﬁ&é%é%‘é%%

BAREA) S FBEOERGENEB)E ARFERSHEC)E 3 BT
B3 B & 7 kiE ~pH DO ~BODs~COD~SS~ # A ~ &P B ~ + 54 FH
BHESRE 2 F RIS 3BT ER EA Rl TR B

B - ) R AR % A% £ 4 B(Cu~HgPb~2Zn-
Cd Ni~Cr)~As % > SpEx 5 55— = » Fpl2%:%4 6 2 [F 26~F 53 -
AL EAA YRR R LRI & L AR R

# 6 Liplzkia ]\%ﬁ'i/?']%%ﬁf{%

ot s e B
R A
JE P A A A s B B: B s C: C: Cx K
(5 =) o
pH 8.2 8.2 8.2 8.2 8.2 8.2 8.2 8.2 8.2 [7.5~85
KR (°C) 31.6 31.1 30.5 315 315 30.4 317 30.9 30.2 —
% % £ (mg/L) 5.6 55 54 5.6 5.5 5.4 5.7 5.5 5.4 >5.0
& 5 F 8 (mg/L) 4.1 4.0 3.9 3.8 7.0 3.0 5.0 4.4 3.6 —
# A& (psu) 33.9 33.8 33.8 33.9 33.8 33.9 338 33.9 33.8 —
# P A (M) 13 - - 15 - - 15 - - —
4 -2 % & (mg/L) <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 | <3.0
i-# 25 ¥ (mg/L) 7.5 7.1 7.7 7.6 75 7.9 7.6 7.3 7.8 —
sak(mg/L) 0.023 | 0.020 | 0.038 | 0.026 | 0.025 | 0.028 | 0.043 | 0.066 | 0.030 —
% (mg/L) 0.59 0.53 0.52 0.58 0.72 0.72 0.49 0.46 0.51 —
% % (mg/L) 0.24 0.24 0.27 0.25 0.27 0.27 0.24 0.23 0.25 —
B § (mg/L) <0.50 | <0.50 | <0.50 | <0.50 | 0.58 0.58 | <0.50 | <0.50 | <0.50 —
A e % (mg/L) 0.49 0.49 0.50 0.55 0.53 0.51 0.48 0.52 0.50 —
T & e B (mg/L) 0.06 0.07 0.07 0.06 0.06 0.06 0.06 0.07 0.07 —
7 #5(mg/L) <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 2
2 p (mg/L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.01
+ %4 FF(CFU/L00mL) | 45 80 60 20 55 70 70 95 60 —
A4 (mg/L) <0.0020{<0.0020|<0.0020|<0.0020|<0.0020{<0.0020|<0.0020|<0.0020|<0.0020| 0.05
4 -(mg/L) N.D. | NND. | ND. | ND. | ND. | ND. | ND. | N.D. | N.D. | 0.005
& (mg/L) <0.0050{<0.0050|<0.0050|<0.0050|<0.0050{<0.0050|<0.0050|<0.0050|<0.0050| 0.05
& (mg/L) N.D. | NND. | ND. | ND. | ND. | ND. | ND. | N.D. | N.D. | 0.001
4% (mg/L) 0.0020 | 0.0029 | 0.0027 | 0.0030 | 0.0032 | 0.0019 | 0.0029 | 0.0028 | 0.0034 | 0.03
4% (mg/L) N.D. |<0.0010|<0.0010|<0.0010|<0.0010| N.D. |<0.0010|<0.0010|<0.0010| —
&>(mg/L) N.D. |<0.0010| N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | ND. | 0.1
#(mg/L) 0.0110 | 0.0150 | 0.0178 | 0.0168 | 0.0183 | 0.0109 | 0.0153 | 0.0167 | 0.0185 | 0.5
3 8% (ma/L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. —
I % & (mg/L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
i£ 5 #(mg/L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
. . | = Al (mgl/l) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
RN F+(mg/L) | NND. | ND. | ND. | NND. | N.D. | N.D. | ND. | N.D. | N.D. 0.1
M #r#r(mg/L) | N.D. | N.D. | ND. | ND. | N.D. | N.D. | N.D. | N.D. | N.D. 0.1
- &¥(mg/L) | N.D. | NND. | ND. | ND. | ND. | ND. | N.D. | N.D. | N.D. 0.1
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